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are i entered oncthe answer sheet.

3 Do not seck clurification on any item in the test booklet brom anyone meluding the test nvigilator o the
centre supervisor. Use vour best judgement.

4. This baoklet consists of throe sections — A, It and C with 43, 34 and 24 guestions respectively. Le. a
total of 101 guestions. If there is a problem with yvour tesi booklet, inform the mvigilatos/
supervisor immediately. You will be provided with a replacement.

5, Ouestions fn each section have been allotted different mark(s), which are indicated on the right
hand side ol each question. You are required (o apswer questions from all sections and expected to
maximize scores in each section.

6, Fach guestion has five alicrmatives, Answer esch guestion by darkening the approphiate alternative letler
againat the question aomber on the answer sheet, For example, if youranswee 10 question number | 15
‘B, darken fully the circle B’ against guestion |

7. All answers are 10 be marked only on the OME answer sheet, Use the margin in the test bookler for
rough work, No other picce of paper i permitted tobe used for rough work.

% Use only HB pencil for markine answers on the OMR unswer sheet.

9. NEGATIVE MARKS {one fourth of the markis) allotted for each gquestion) may be deducted for

answering incorrectly any particolar question,

11 Failore 1o follow instruckions and exanination norms will lead w disqualification.

To open the test hooklet, insert a pencil bencath this page and tear along the right side of the lest
hooklet as indicated by the areow al the bottom of the poage.

PLEASE WAL FOR THE SIGNAL TO OPEN THE TEST BOOEKLET.
BEST OF LUCK!




Section A - Data Interpretation and Quantitative Ability
Answer question nos. 1 to 4 based on the following information.

The following graphs give snnnal data of Assers. Sales (as percentage of Assets) and Speiding on Corporaie
Soeial Responsibility (CSR) (ay percentage of Sales), of a company for the perod 2004 - 2008,
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1 [ which year veas the increase in spending on CSR. vis-ii-vis the previous year, the maximum?

A 2ia
H. 2
L L )
D 2008
E. 2009

]

OF the vears indicated below, in which year was the ratio of CSRY Asscis the maximum?

A 2004
2005
MG
- 20607
- IR

e S

3 What was the maximum value of spending on CSR activities in the period 2004-20092

AT Crope
B ¥F 10 Crone
C ¥ 20 Crumne
B30 Crore
E: T 40 Crore

4 Inwhich year, did the spending on CSR (measured in %) decline, as compared 1o previous year?

2N
B, 2007
O 2008
I, 201
)

=oavnne of the above
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Answer question nos. 5 to 7 hased on the following information.
Five years ago Maxam Glass Co. hail estimated its suaff requiremnents in (he five leve

peaple bused on ad-hoe requirements. in the process alsa selecting ex-defence servi
The llowing graph shows actual staff strenpth at various lovels as on date. ;
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The: level in which the Ex-Defence Servicemen-are highest in percentage lerms is;

Lo

iRl
By e Ukl

'
If the company decides to abelish all vacant posts al all levels, which level would incur the ' sl
percentage lerms? ==

Al
B2
€3
B4
E3

Among all levels, which fevel has the lowest representation of Ex-polivemen?

Al
B2
c3
D4
5

I a locality, there are ten houses in a row. On a particular vight a thief pramwd lﬂ.‘.ﬂﬂl"
loeality, In how many ways can he plan such that no two of them are next to sach other?

A 56 L \
I.'!-I'.-t g - l_
C.80 .

L. 1M
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E. None of the gbove

A

G 3= {94 495)™ =[x} + [, where [x] i€ definad 4 integral partof X and s & fraction, then x01-F) etjuils-

A

B Less than ]

" More than 1

1. Berween 1.and 2
E. None of the aboyp

10 Let a,= 101111 .....], where | occurs i namber of Himes. Then,

b g 15 0 e
o Usy 05 00C @ prime
Wi diae i @OC & Prime,
WL i s BOE @ prime.

& (1) Iscarmeet.

B, (1) and (i1} are cormeci.
C. in) and 11ii) are correer,
I3, All of them dne corract.
E. MNane of ihem is conoet.

Answer question nos. 11 1o 12 based on the following information

Income- Tax Rates for Financial Year 2009-10
|

Individual & HUF beluw Women below [ ~Tax Rates
Aage of 65 years | age of 65 years '

Income up lo | AR Incume up o 100000 il

TLab00 1 T300.000,- T1.941, 001 u:-?il,ﬂq,im*- 10%

T3 0007 10 T3, 00000 T3.00,001 1o T5.00,000¢ '20%
Aderee TS 00001 Ahoee 5, 00001 3P

Latel meome tax puvable is olvained by adding two additional suréharges on cileulited income tax.

»  Education Cexs: Anadditiona) surcharss catled “Bducation Cess is levied af the rate ol 2% on the

amuumt of income tax .
§ # Secondary and Higher Fdueation Cess: A additional suec harge called “Secondary and Higher Education
Cess” is levied at the mte of 1% on the amount of income L.

|1 Sangectn is a young working Tady. Towards the end of the financial year 2008- 10, she found her total annual 1
income tobe ¥ 3,37 4250 What % of her ineome 15 patyahle as income ax?

A 564
Bo6E2
C_7.3%
D800
L. Nane of the above

L

12 Mr. Madan ebserved his tax deduction at source, done by his employer, us ¥ 3,17 S What was his Lot
incomé (in T) if he nesther has wo pay any additional 1ax, tor is eligible for any refund?

A, L3, 48, 835/~




13

14

15

17

14,45, 527/-
C. 14,47, 169-
D. 15, 70, 7185
E. None of the abave

A straight Tine tuough point P of o triangle POR intersects the side QR at the poial S and the circumcirele of the 3

triamgle POR ar the point T. If 5 is not the céntre of the circameingle, ther mﬁ]ﬂu[ﬂﬁm 'i'g-_‘l:['u:c?

A, (1PS+ (IST) < 2V(DSIHOR)
B. (1/PS)+(1/8T) < 4/ QR
CAUVPS) + (8T = 1V(OSW0R)
B (UPS) + (LST) > 4/ 0R

E. MNone of ihe above

What is the maximum possible value of (21 Sin X + 72 Cos X7

Fhe |
B. 57
. 63
[ 75
k. Nane of the above

The schedulfing officer for o local police department is frving to schedule additional parrol units in each of wo
neighbourhoods - southern and northem.  She Knows that on any given day, the probabilities of major crimes and
minor crimes being committed m the nomhern acighbourhood wese 00418 @nd 0.612, respectivety, and that the
eorresponding probabilities in the southern neighbourhood wene 1,335 and 0. 520, Assuming that sll crime ocour
independent of vach other and likewise that erime in the (we neighbourhonds are mdnpfndi:m of each other, whiat
14 the probability that nocrime of either type is comnuirted in either neighbourhoed on any given day?

A s
B.0.225
O a
DO TS
B Wone of the above

Answer question nos. 16 to 17 based on the following infarmation

A man standing on 4 boat south of 2 light house observes his shadow to be 24 meters long, a5 misasured al the sea
tevel. On sailing 300 melers enstwards, he finds his shadow as 30 meters long, measured in a similar manner. The
helahit of the mian is 6 meters above sea level,

The height of the light house abave the saa Tevel s

AL S meters
B9 meters
C. 96 meters
12 100 meters
E. 106 mukns

What is the horiontal distance of the man from the light house in the sceond position?
A, 300 meters

B. 400 meters
S0 Tneters

F

[
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D, By meters
E. MNone of the above

=

A 25 0 long ladder is placed agpinst the wall with its base 7t from the wall. The base of the ludder  is drawn out
st that the top comes down by half the distance that the base is drawn out, This distarice is in the mnge:

A 25

E. (5 .5)

i R

D37

E. Mone of the ahove,

The domain of the function fix)= log: [ logilogd 20x-x-8 11} } 1s: -

A L3
B:®.1h
C(7. 1
| B R
E. Niomr of the abave

There are {our machines in a fetory. At exactly £ pm. when the mechanic is ahout 1o eave the Factory, he is 2
infermed that teo of the four machines aee ol working properly. The mechanic s in a hurry, and decides that he
will identify the two faulty machines before going hame, and repair them next moming, [ lakes him twenty
minutes 0 walk to the bus stop. The lust bus leaves al 8:32 pm. If it takes six minutes 1o identify whether a
machine 15 defective or not, and if he decides w check the machines ar random, what §s the probabilicy that the
rmechanic will e able 1 cotch the Tast bus?

Al
B Iva
e
[, 113
=

The fuethall league of a conain conmry s playes] scconding 1o the Tollowing rules; 3
» Tach fcam plays exactly one game against each of the other tewms.
=  The winning team of each game js awarded | pointand the losing team gets (1 point.
o Tia match ends ina draw, both the eams get ¥ point.

Alter the league wis over, the feams were ranked according to the points that they earmed ar the end of the
tournament, Analysis of the paints table revealed the follvwing:

s Exactly half of the points earned by each team were earned in pames against the ten tesms which finished
al the bottom af the able

s Each of the bisttorn t2n teamts carmed half of their total points agginst the other nine teams in the botiom
l2n.

How many teams participaied in the league?

A L6
B. 18
B
[F.-25
E. 3]
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Tna city. Vhere js a cireuiar park. There arc four points of enlry i the park, namely - P, (. R and 5. Three paths
were constructed which eomected the poinis PO, RS, and PS. The length of the path PO is [0 umits, amd the
length of the path R& 1 7, units. Later, the pupicipal corperation axiended the paths P'Q and RS past 0 aml R
respectively, and they meet ut 8 paint ‘T on the main voad oobside the park. The path from Q to T medsuras B units.
1A it was Found that the trgle PTS is 607, Fma e area (i syuare units) enclosed Ty the pathis PT, TS, and PS.

A 363
B 54473
C.1N3
1. 9003
E. Nune of the above

Answer guestion nos. 23 _ 24 hased on the Fellowing information.

From a group of 343 contendess, 3 party has o seleet @ leader. Fven afier holding o series of meetings. the
peliticizns and the seneral body Failed to conch a consensus. 1t was then proposed that all 543 contenders he given
o pumber from |1 o 545 Then they will be asked w stand on i podiam in-a circelar arrangenenl. and counting
wotld start from the contender aumbered 1. The counting would be done w8 cloekwise Bashion. The mule is that
every alernaie contender would be asked 10 step down i the connting continued, with the cirele getting smaller
and smalier. Gl only one person pemiins standing. Thetelre the first person W0 be efiminated would be the
conceneer numbered 2. ' R

Which position slionld @ contender choosc T Re has 10 be the leader?

A3 A
B. 67

C. 195

D, 523

B 451

One of the conlgnding pofiliciens, vl Chanaya, was quite proficient in caleulations and. could correctly figure
out the cxuet position, He was the fast person reriaining in the circle. SeRsing foul play the peliticians degided w©
repeat the game: Howevet, this 1ine, ingtcad of remevimg every altemate person, they agresd on Temoving every
00th person from: the circle. Adl pther ruleswire kept intact: Mr. Chanay Jid somie gk cale tions and found
that for o groyp of S42 people {he right position 1o become d leader would be 437 Whak 15 the r’?gﬁl pasition for
the whole group of 545 an per Lae o ified rule? '

A2

R. 194
€. 2459
D43t
E. 543

Little Pika whio is five and hadl yeurs old as just Yeurnt addition, However, he s not know Bow o carry. Far
example, he can wdkl 14 and S, bt he does ot know how to add |4 apd 7. How many pairs of consccutive
intewers between 1000 and 2000 (hath 1000 and 2000 included) can Linle Pika add?

A, 150
B. 155
C. 156
B, 758
[ Nane of (he above

2



m. | — - -~

26 In the countryof Dwenty, there are exactly (wenty cities, and therp i exactly one direct road between any two
cities. o two direct roads have an overlapping road segnwnt. Aller the election dates are announced, candidates
From their respective cities, start visiling the giher cities. Following arc the mules that the election cornmission has
laid down (o the condidafes

= Each cadidate mst visil each of the other ¢itics exactly once.

Each candidate must use only the dirgcl roads between two citics for going from one cily o another.
The candiciate must retum 1o his own city ai the end of the campaign.

Pt diirect road between two cities would be used by more than one candidare.

The maximum possible number of condidates is

ALY

SR
e e R

27 The mictomanemeter in a certain fackry cin méasire the prossare inside the gas chamber from 1 unit 1o 990999 3
units, Lately this instrument has nol been wirking properly. Ehe problemn with the fnstrument s that 11 always
skips the digit 5 and moves directly from 4 10 6. What is the actual pressire inside the pas chamber if the
micromanameten displays Q030167

szl
22
il
. 2E6R0
- Kone ol the above oplions

Lpe S i - B

28 Consider s square ABCD of side 60 ¢m. It contains arcs BD and AC drawn with contres al A and D vespectively. 5
A cirele is-drawn such that it s tangent o side AB . and the arcs BD and AC. What is the radius of the circle?

A UhEm
B Hem
L2 im
[, I3 em
E E. None of the above

29 There are 240 second year students ina B-School. The Finunge area offers 3 electives in the cecond yvear, These 2
are Fimancial Denvatives, Behavioural Finmmee, and Scourity Anglysis. Four students have taken all the three
elechves, and A% smdents have taken Financial Derivatives. There are twice as many. students who study
Financial Decivatives and Security. Analysis. but not Behavioarsl Fmanee, s those who stady hoth Financial
Drerivatives und Behavieurl Finance but not Security Analysis. and 4 times as many who study a0l the three. 124
shitdents study Security Analysis. There are 59 srudents who could not muster courage 1o take up any of these
suibjects.. The group of students who study both Finencial Derivatives and Security Analysis but not Behavioural
Finance, is exactly the same as the group made up of stadenrs who study both Behavioural Finance and Securily
Amalbysis. How many students study Behavioural Finance only?

A
- 30
32
.33
. None ol the above oprions

i

s

5

3 In a plane rectangular coordinate sysiem: points L, M. N and O are représented by the coordinates (-5, 0), (1. - 2




31

32

33

L}, €0, 50, and (-1,5) sespectively. Consider o varsable puint P in the same plane. The miinfmumt value of PL
PM+EN+PDis

A1 #+37

B SvZ + 210

C. VAL #4327
D # |

E. None of theabove 3

In-a bank the account nmbers are all & digit numbers. and they all start wﬂhﬁﬁ-ﬂfﬁt 2 So. an sccount number
can be ropresenied s 2% %aXakptiX. A, An accound numbet is considered 1o be @ ‘magic’ number il xyMoka is
exactly the same 68 Ljksks 07 XsXpXs OF both. %, can take values from Gito 9, bt 2 followed by seven Os i5 nul o

R

valicl ageonnt pumber. What is the maximim possibic purnher of cusiomers hmﬂﬂﬂﬁlmifwﬂmﬁ

A, 9989

B, 19050

C. 19989 h
13, 19999 3|
E. 199490 V.o

1@ list of 7 integers, one integer. denoted s x is unknown, The other six mtcgmm:m;#.ﬂ 4, 8, and 4. If the

mean, median, and mode of these seven integers arc arranged 0 increasing arder, they form an grithmetic
progression. The sumof ull possible values of x is

A 26

B. 32 4

34

D. 3% -

E40 "

Prof. Bee noticed something pevuliar witle enlering the quiz marks of his five WWW The
spreadsheet wus progranmmed 10 calculute the average alter cach score was entered, Prof. Bee cntered the marks
in a randem order and totived shsat aiter each mark was entered, the avepagéwas;jw:.m In asvending
order. the marks of the students wore 71, 6. 80, 52 el B1. What were the Fourth an ifth marks that Prof. Bee

entered?

AT1 and B2

H. 71 and 76

LT B0 -
0. 76 and B0 i
E. 91 und -8

Rakhal is Jooking for o field where he can graze his cow. He finds a local farmer, Ciopal. who agrees (o rent hi
field 1o Rakhal for T (000 year. Rakhal finds o postin e field and ties his cow o e post with a 25 feet rope.
After some months, Gopal tells Ruklal that he will wuild a shed with four walls an the field with (he post a5 ooe
of the cormer posts; The shed would be 15 feet by 10 feet. Rakhal agrecs but e realizes that this prrangement
wold reduce the available area for grazang, What shiviid be the modified rent o compensale for this loss of
graing avea if Rakhal has (o keep the cow tied (o the same post with the same fope?

A TROO
R T380
C.TRES
. TaE)




E. Mone of ihe ahowve

Question Nos, 35 — 36 are followed by twe statements labeled as 1 and . Decide if these statements aire
sulficient to conclusively answer the question. Choose the apprapriate answer from the options given
below:

A Satement §alane is suflicient wanswer the question.

‘B: Suitement TFalone is sullicient b answer the. s Lo,

L Staternent | and Statement 1 westher ave sufficicnt, bt neither of the twa alone is sufficient o wnswer the
UL,

3. Either Statement 1 or Statement 11 alone is sofficiont w answer the question,

E. Neither Statement | nor Statement W is necessary to answer the question,

35 Let PORS be a quadriluteral, Two cireles 01 dnd O2 aie inscobed in wrisngles PQR and PSR respectively, Circle. 5
O1 touches PR at Mund Circle 02 ouches PR al M. Find (he Ienath of NN,

L Acirgle is inseribed in the quadrilateral PORS.
IL The radii of the cifeles O and 02 are 5 and 6 umits respectively.

36 Given helow is im equation where the letters sepresent digits. S

(PQ. (RQ) = XXX. Determine the sumof P+ Q% B+ X
=,
1L The digits are miique,

Answer question nos. 37 — 39 based on the Tollowing information:

Malchand Textiles produces a single product of only one qual ity- waterprool synthetic fabric. Mr.Sharma., (he
cosl accotntant of Mulchund Textiles, cstimated the costs of Mulchand Textiles for differcnt possible monthly
otput levels. Before be could twhulate his estimapics iy computer erashed, and Mr. Sharma lost all duta,
Fortunately he had some primlouts of some incomplete tahles, charts and diagramis. Lhe table fitled “Variable Cost
Exstimaizes of Mulchand Textiles” provided the estimates of Tnbour a5¢ muterial costs,

I Variahle Cast Estimates of Mulchand Tetiles .
Output (Syuarc feet) | Labour cost (2) Muterial cast (1)
= 250000 21500 LLOS0
- SO0 41510 220 i

' 7SO0 - B0 33000
L0 78000 . 4000
1 25000 95000 34730
50000 _ 11000 6300
e 175000 ' 133000 L 76650
= 200000 T | ES000

Apart from labour and material costs Mulchand Textiles incurs administrative custs of T 40000 per month, and
electricity costs. Mr. Sharma recalled that estimate data of variable electricity cost had certain peculiar
charpcteristics. Values at every 25000 sq ft of output increased I geomelric progression Gl 150000 sq fr of
outpul, after which values mcreased m arithmetic progression for every 25000 sq ft of output. Mr. Sharmu
remembered that the eleciricily cost was estimated to be 2 3800 for 25000 sipimare feet of autput, T 5700 for 30000
square feet of output and ¥ 38856.50 for 175000 square feet of sutput

37 The estimated cost per squire feer of ouEpul i least for 3




AL TIN00 square luet datput

B. 10000 siuare feet puipal
O 128000 sguure Teet Gutpul
3. 150000 square feel outpul
E, 175000 square feet outpal

14 The estimated material cost given i the pible fitded “Variahle Cost Estimates of Mitlchand Textiles” meluded the 3
cost of maicrial that gets spoiled n the production process. W1, Sharena decomposed the pgrimared material cost
it muterinl spoitige cost and materil usage cost, but Bio lost the data when his computer crashed. When e saw
ihe following line diagrm, be recalled that he measured the estimate of material spoilage cost per square feet of

oot an the y-axis and monthly cutpit on the K-0xis.

0.043 S .

0.042 - -
0.041 ;
.04 - F—-—

0.039

0.038

oon3r -

0.036

Ftimated material usage cost persguave fect of oulpat-

A, decreases up to L25000 square fest of monihly output aud then incrsises monobomeatly.

B decreases up to 50600 square feet of monthly oulpul, rermains constant between 30000 and
L0000, decreases berween. 10600, and. 125000, remains constant between 123000 and 175000
and Finally increases between 175004 and 00000 of menthly outpuL.

G remains constant for all levels of monhly outpuL.

D, increases up to 50000 square focl of monthity outpat, remains constant between 50000 and
HOOO0. increases between 100000 and 125000, remains constit hetween 123000k and 175000
amd finally degreases bethwesn VTS0 and 200000 of monthly ouiput. _

. increases up to 100000 square feet of monthly eutpul and then deereases monolonicatly.

19 Mr Sharma found some printouts of fine diagrams, The sxes of the graphs were ot markad. bt Mr, Sharma
remmiambiered that he measured monthly ontput on e caxis. Which ef the following diagrams would represent
Uhe-cstimates ol elecineity CosE Per SR feet of output versus monthly oitpat?
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Answer question nos. 40 - 43 based on the lollowing information;

In the beginnmg of the year 2010, Mr. Sadyal had the option 1o invest £ 800000 in onc or more of the lallowing
assets — gold, silver, US bonds, EU Horids, UK bonds snd Japaness bonds. In order noinvess in LS bonds. one
must first convert his investible fund mo US Dollass at the ongoeing exchange rale, Similardy, if one wants to
mvest in EU honds or UK bonds or Japancse bonds onc most fiest convert his investible fund into Euro, British
Pounds and Jepascse Yen respectively al the ongomg cxchapge rates. Tramsactions were aliowed only in the
bemnming ol cvery month. Bullion prices and exchange rates were fixed at the beginning ol every month and
remainied unchanged throughout the manth, Refer w the whle titled ~Bullion Prices and Exchange Rates in 20007
lor the relevan: data

Hullicn Prices and Exchangs Rates i 2010

Date Gold prices  Silver prices ! i} e, i 5 Y T
2 Mg | E LN grams 7/ {sg ol T S e o
Janunry | LN 300 40 fill 70 (.5
| February 1 20100 302 41| eLs| 71| 05
| March | . Jzs0 307 0 D, 714 Es?
| Apnil | 20334) 310 42) - 62 7| 082
by 1 e | 312, | 42 RS 72 (.53
e | 20500 g | 2 62.5 72|, 054
July 1 2I65¢] /00 44 63 73| 055
August 1 1720 335 15 fi3 73| 0SS
September | 20850 40 17 6d 4 QST
Oetobey | 2020 3472 49 63 74 058
November | 209501 345 5) 65] 745 059
| December || 21000 330 o | 65 73 0.6

Interest rates on US. FU, UK and Japanese honds are 106, 20%, 15% and 5% respeclively,

Mir. Sanyal invested bis entive fupd in gold, US bonds and EU bonds in January 2010, He liqueficd his assets on 3
315t August 2000 and gained 13% on his investments. 1f instead he had beld his assets Tor an additional month he
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&2

43

would have gained 16.25%. Which of the following options is correct?

A N Sanvol invested fess than €09 in gokd and moee than 40% 10 EL bonds,
B. Mr. Sanyal invested lexs than A0%: in each of gold and US honds:

- Mr. Samyal vested Jess dun 0% in gold, nnd less than 25% in LIS bonds,
I Mr. Sanyal invested more than 40% in gold, Tess than 23% in BU boads.

E. br. Sanval invesicd mione than 408 m each of U8 bonds and EL honds:

At the beginning of every month, by sheer luck. Mr. Sanyal managed to comectly puess the asset that gave
MIEXIMUT relurn dm.ng that moenth and iovested accordingly. I be liguelied his assets on 315t December 2010,
how much was the perceniage #ain from his mwvesiments?

e X
B.&6.71%:
C.47.5%

049 15%
E. 45 065

Mr. Sanyal adopted the following investment stratezy. On |st Tanuary 2010 he invesred halt of his investible fund
i gold and the other half ke kept in fixed deposit of an Indian bank that offered 25% inlerest per annum. Al the
begianing of every quarter he Liquetied his dssets (o creaie his mvestible fiame Tor that qn.mrﬁ:[. Every quarier he
invested half of his fund in the bullion that gave maximum retum in the g‘&muuﬂ quiﬂﬂ'ﬁ'mﬂ ‘the ather half in the
foreign bond that gave maxinmum return in the previous quarter. However, if in any quarter none of the foreign
bonds gave a better return than the fixed deposit of his Indian bank, he invested half of his investible fund in the
fixed deposit Torthe nextquarier. On 3151 Decerber 2000 Mr. Sanyal liquefied his asscts and realized that all of
the following plions are e exeepl:

A. By investing the entire amount in US honds, he would have gained an additional ¥ 118395,

B. By uw::sung the entire ametmt i UK berds. he wiald have giined an additions] 65035,

. By investing the entire amount in EU honds. e would have gained an additional T 63035,

D, By investing the entine amount in Japanese bonds, he would have gained an additional T 38395,
i By investing the entire amount in fixed deposit of s Indian bank he would have gained. an sdditional T3H395.

Advisors were agked 1o prepase an inyestment strategy that involved US Bonds, EL Bonds and Japanzse Bonds,
keeping ol least 20% of the imitial find in each of these assets for the entire year. and allowing exactly four
adduional trmnsactions i e course: of the year, On 2nd’ January 20 while companng five different

recommendations that he had recetved from bis financial advisers in the T:L'Emmngwfﬂﬂiﬂrﬂr Sanval referred

tor the wbie “Bullion Prices and Fxchange Rates in 20 10", Onc transaction is defined as the buying or selling of
an asset, Which of the recommendation out of the followi ing was the best one?

Ao Two additonal transactions each dormg the month of June aod November,
B. Twe additional ransactions each during the month of June and October.

O Twa sdditional transactions eeh during the momb of May and June.

. Two additional ransactions each during the month of March and November.

E. Two additional transactions each during the month of March and Octoher
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Section B - Verbal Ability and Logical Reasoning

Read the following discussion [/ passage and provide an appropriate answer for the questions 44
through 47 that follow.

OF 1w several features of the Toveta Praduction System that-have beon widely studied, most impoertant is
the mode of governance of the shop-floor at Toyota. Work and imter-relations between workers arc highly
scripted . in eXtremely delatled “operating procedures” that have woobe followed rigidly, without any
devighion of Toyeta: Despite such rule=bound rigidity. however, Toyota dees not beeome & “command-
control system’. It is able 0 reiain the characier of a learning organization.

In fact, many observers characterize it as a community of scientists camyuig oul several small experiments
sitnultancously. The design of the aperating procedure is the key. Every principle must Find &n expression
i# the operating procedure - (hat s how it hoas an effect i the doman of action, Workers on the shop-
Hoor, often in teams, design the ‘operating procedure’ jointly with the spervisor through a series of
hypothests that are proposed and validated or refuted through expeciments inaction. The ngid and detiled
‘aperating procedure” specification throws up problems of the very minote kil while ity resolition leads
w a reframing of the procedure and specifications. This inter-temporal change tor Aexibility) of the
speciiication (of operating procedure) iy done ol the lowest level ol the organication; i.e. closest o the sile
of action,

One implestion of thes arrangement 1s that system design can no longer be rationally optima| and
slandardized across the organization. It 15 quite common 1o find different work aorms in contiguous
assembly linss. because cach might have faced a different set of problems and devised difTerent counter-
measures o tackle i, Design of the coordinating process that esséntially imposes the disciplive that i=
required 0 farge-scale complex manufacturing systems 1= therefore customized o variations in man
maching context of the site of action. It evolves through numeroas points of negotiation throughout the
orzunization. [timples then that the higher levels of the ictarchy do nor cxergise the power of the fiat in
seiting work males, for such weork mles are no lopger & standard set across the whaole organizanon.

It might be interesting 1o go throwgh the basic Toyota philosophy that waderlies s systen designing
practces. Lhe noton of the ideal prodoction systern in Toyola embraces the following  “the ability to
deliver jusl-m-time {or on damand) a costomer order in the exact specificution demanded, in 4 bateh size
of one {and hence an infinite profiferation of variants, models and specifications), defect-frae. without
wasizge o matenial, labour, crergy or motion i a safc and (physwcally and emotonally] fulfilling
mioduction environmen:”. Tt did not embrace the concept of a standardized product that can be cheap by
giving up variations, Prosorving consumption varicty wias seen, in fact, a5 one mode of serving socicty. It
i5 imeresting o note that the adiculation of the Tovota philosophy was made around roughly the same
timc that the Fordist systeim was establishing itsell in the US automotive industry.

What can be hest deTended as the assel which Tovow mode] of production levempes (o sive the vast mnge
of models in 2 defecr-free fshionT

A Large seale complex manufaciuring sysiems

B, Intellectaal capital of the compahy™s managemont

. Loans taken by the company from banks and findncial institutions
D Ablity of workers (0 evolve solulions w problems

E. Skill and charisma of the wp leadership

Which of the following cen be best detended s 2 pre-condition for the Toyora type of production sysiom
1o k™

A Existence of workors” union: to protect worker's rights
B, Existence of powerful management 1o create unigue strategres
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47

4%

49

€. Cordial worker-management relations to huye industrial pesce.
D. High masagemenl involvement wowands problems identified by workers
E. Muanagement’ s faith in workers' abilitics 1o sulve problems in a Figorous manner

Bascd on the abave -;_.'til'h“.iigt, which of the following stsiements is best justified?

A

Workers have significant control rights over the design of woek rules that allow worker skills umd
ingenuity 10 contingously search for novel micro-soletions using idormition that ofien sticks w
the local miero-comiext of the works

Managers have significant control righis over the design of werk rules that allow worker skills
and ingenuily to continuously seareh for novel micro-solutions around micra-information that
often sticks to the local micro-context of the work.

Wik rules enable the workers fo repor problems faced @ the. shop-floar o specialised
personnel who et op experinients o replicate the conditions, This aliows the specialislts 10 come
up with solutions that are rigorously tested in experimensl conditions.

Toyota as an orsunization has extensive networks with different specialists who are subject
matter expents o differcal fields. These neiworks allow problems to be resolved in the most
aclvanced manner, enabling Tovota to beat the competilion. _

Toyou's products are extensively tesied by customors in simulated eonditions before they are
released to the market. This extensive festing is done by workers who dotble up as @ community
of scientists experfmenting to develop the most advanved product.

Whiil could be the best defence of the “different work nomns in contiguous assembly lings™?

AL

B.

Without such varutons allowed, vights of manaper W design work-rules would bave made vy
little sense, making the company similar 1o Ford.

Peoscrihing standundised work porms would prevent Toyola from benefiting. from warkers”
probiem solving abilily in fesolving differem kinds of problems that emerge, thus muking it
chificult 1o atlain the Toyata philosophy.

If similarities were mposed, Aghts of workers to experiment with work rules would have
macde very little sense. _
Standandisation of work fules is only jistified when the invesmen= in plamis are huge and
experimenting with the werk miles wonld be detrimensl o the clficiency of the plants. Sines
Toyota's plants typicably involved low investments, it could tolerate noa standands wirk mles.
With standardization of processes, vight of the workers in design of work-rules made sense.
Since Toyola's manufacturing processes were nos- standardised. the different work rorms did
nol muke sense.

The author as his composition o (he best of his - yeb listen to it with a sympathetic

O __ souls, and judge it

The options that best fill the blanks in the above sentence would be:

A haned, insights, mind, distinguished ; *i8
B, polished. inicllect. mind, noble L
C. polished, mind, intcliect, noble o b
D. refined, mgenuity, hean, oghteous by o T

i1 refined, thoughts, hesrt, righrenis f 308 s

There is much dilficuty ootting this plice and i1 1% not possihle to mﬂﬂl _ without the griwe o 1

the lord,
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The option that best fill the blanks in the above sentence would be-

Alin o il

Bt o: it

e ins i

| BTy 1

E. ooy 1o

50 v have ardoih, Wiy not gocand verity? | shall be waitin i the shade__this banyan tree il you i

vomeback __ me.
The option that best fill the blanks in the above sentence would be:

AL il umder: o
I ast of for

O asyalf; ut

. for wnder; ai
E.iFof; o

St Pick the odd onc ont: =

HAeowisdom; folly
1. friendship; enmity
C. ofien; seldom
D Joyalry: lreachery
E. devation: Joathing

Aualyse the following passape and provide appropriate answers for the questions 52 through 55 that
Fallow,

We can answer Fermi's Paradox in two ways. Perhaps our current sclence over-estiomites the (ikelihood of
extraterrestrial intelligence evalving. Or, pethaps, evolved icchnical inrelligence has some deep tendency t he
self-limiting, even self-exterminating. Affer Hiroshima, some suggested that any aliens bright enomgh o make
calonmzing space ships would be bright cnough o make thenmonuelear hombs, and would yse them on cach
ohersooner or bater

I siggest a different, even derker solution o the Paradox. Basically, | think the aliens forgel o send radio
Siguals or colonize space because they' re o busy with runaway censumeresm and virmal-reality narcissism,
Cince they turn inwards 10 chase their shiny pennices of pleasure, they lowe the cosmie plot.

he fundamental problem is that n evolved mind must pav attention o indiraet es of biological fitness,
rather than tracking fmess itsolf This wis a'key insight of evolutionary psyehology in the earhy 19505
altheugh evolution Fivours braing that tend to maximire fitness (s measured by miunbers of greargrandkids ),
0 brain has capacity emgh o do so ander cvery possible circumstance. As 4 result, brains muost evolve shorr-
Cuts: finess-profmoting tricks; cons. recipes and heuristics that work, on an average, under ancestrally normial
conditions. Fechnolagy s tairly good at controliing estermal reality to promote real binlugical fitness. but it"s
even better at delivering fake finess— subjective-cues of survival and reproduction withone the real-world
ellfecuy.

Fitness-faking iechnoiogy fends 1o cvolve much faster (han our psychological resistance o it With the
mverition of Xbux 360, people would rather play & high-resolution virsal ape in Peror Juckson's Kine Kong
than Be 2 perfect: resolution redl hugign Teens today must find their way through o carnival of addictively
Nitness-faking crtertiinment products. The tedifiong staples of physical, mental and sogisl developimeni—
athiletics, homework, dating—are neglected, The few yiung poople with the self.contrnl 10 pursue the
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mertocratic path often get distructed af the Last Ty,

Around 1900, most inventions concerned physical reality and o 2005 focus shifted 1o varmal enlertaimment.
Freud's pleasure principle triumphs over the reality principle. Today We BIITOW-Cast humar- inerest stores 1o
aqch piher. rather than broadeasting messages of universal peace and prograss Lo Orher Star svstenms.

Mayhe the bright aliens did the same. 1 suspect hiat a eertain period of fimess-faking narcissism is meyvilable
afler any intelligent life evolyes. This is thee Great Temptarion for any technologieal species—to shape their
subjective reality o provide the cues of survival and reproductive suceess without the substance. sl bright
alien species probabily go extinet gradually. allocating more lime &nd resourees to their pleasures, and less o
thetr children

| Heritable vaciation in personality might allow some lncages to resist he Gireat Tempiabon and last longer.
gome individuals and fumilies may start with an “imaional” Luddite abhoivence of entertainment technology,
and they may evolve ever mere seli-control, comscientiousness and progmatism by combining the Tamily valoes
of the religinus right with the sustamsability velues of the Gruenpeace. They wait patiently for our fituess-faking
naggissism to w0 extinel. Those practical-minded breeders will inherit the Earlh as Tike-minded ahens may have
mherited a fow other planets. When they finally achieve conlact, it will not be a meeting of novel-readers and
game-players. [t will be a mecting of dead-serious super-parents who congratilate each other on surviving not

jtst the Bomb, hut the Xbox.
52 Among the following options, which ang represents the most impurtant concem raised in the passage” 1

A Extraterresimal ife and its impect on human beings.

13. Lack of interest in developing proper filness.

. Short-term: pleasure seeking behavinur.

B, Technological advancement and extinction of intelligence.
L Tendency of brain to develop shortcats.

53 Which among the following would be the bess possible cxplanation for the luck of gontact betwecn uman !
heings and alisns?

A Oreerestimation of the technological capahility of aliens.
B. Genetic variation in aliens” personality is not yet achieved,
| € Thermonuclear bombs might have destroyed wll aliens.
| D, Colonisation of space is impossible Lo achieve.
E. Aliens huve hecome self centred and pleasure seeking.

54 To which of the fol lowing statements would the authir of the passage agres the st}

A. Vielent crime, including gang warfape for wrf protecoon and expansion, co-exists 1 all echnological
advanced societies in spite of profiferation of fithess-laking technologies, .

8. The technelogy 10 produce fitness faking gadgets is guided by the government’s desire o contrel the minds
of ¢itizens und keep citizens away from cogaging in trouble-making activities.

O Countties that have the most adyimeed technology often are the ones, that sre at the forafton of colonial
expansion through wars.

D. Wars and eolonial conquest engaged in by the Pumpean nntions. after the renaissance wauld not have
occured had litness-faking gadgets and consumerism existed m thpse countries during those times.

E. The search for golonies is undertzkan &y wll the couniries, inespective of their iechnologival expinson, This
coleninl expansion is guided more by need for adventure than for resuUrces.

i
th

Which of the following statements, if true, challenges the ideas presented in the passage the most? 4

I Violent crite, ingluding gang warfare for 1orf protection and cxpansion, to-exists in all technulugical
sachvanced societies n spite of profiferation of fimess-faking echnologies.
1. The technology o produce fitness-Faking gadgcts is guided by the government s desire to conrol the minds
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of citizens and keep citizens away fromengaging in trouble-muking netivities,
I Countries that Have the most advanced technology ‘often are the ones that are at the torefront - of
preparedness Tor wars,
IV The era of colonial expamsion that wak enpagod in By the Ewrepean nations after the renaissines wonld Irad
aever Liken place had the techaalosy wrpreduce fitness-faking gadgets oxisted during those times.
V. Peenagen having access to technology, engage in more socinlizing away from parenial supervision than
thuse whodo nol have aceess o such technology. J

A1 &m
B Il &1
C. HI & iV
D LIy
E LIN&EV

56 Nofre s oownd unchangeshle, snd & is as to whether its hidden reasons aml 1
T Nt & man or not,

The option that best 1l the blanks in the above sentence wonld be:

A velentless, indifferent, actions. undersmmndable:
B. parsistent, heartless, actions, comprehensible
C. inenorable, apathelic, activities, explicable

13, harsh. indifferent, abtions, dnderstindabie

L inescapable, uneoncomad, activities, intelligitie

37 Impressions ang ﬂim:l:, vivid, lﬂihﬁftﬂﬁl‘rﬁm of immediale experience: ideas are merely feeble copies off 3
thise gri.gmg.f.ﬁﬂpmggiun;_ -
Assuming the above statement s truc, which of the stafements logically follow feomy jt?
L Every impression leads 10 an idog,
IL deas must follow an’ aniwecedent Impression,

I, The colowr of the 3011 XA T test baokiet right in front of a candidate 5 an impression to her, whereas the
memory of the colaur of her television set is an ideq.

LV 1T one was imerested in erigin of the idea of the colour of 2 television set, then ane neéd 1o understand the
impressaons from which this idew was derived.

AT&TH

B Ir& m

Coir & 1y
DI B & TV
E LT HI& 1V

S8 Media are pot just passive chunnels of information. Nt only o they supply the scuft of thaughs, bt they glso 1
shape the process of thought. And whal the Inmemet seems 10 be doing is chipping away our capacity fir
COTCEMHFATION.

Which of the following, if wue. would most strenpthen the afgument presented sbove?

A Niwtzsele was loreed o e o Eypewriter when he started losing his vision. After hie mastered the machine,
e could type with his eves closed: Tt was Yater found that under the effect of the machine, Niclaiche's rose
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{1}

[id]

“chanped from argumients w aphorisms, from thoughts to puns, from rhetorie o telegram siyle™

B. One of the effects of the tmekesping imstrumenis has been that we bave stasted detiding on our daily
serivities hased on the clock and not based on our senses, y '

C. Studies have shown thae the essay welting skills of an average 15, - 20 vear old. who spends a Jor of tine
browsing the Internet, i3 comparable to whal 1 was among the average 15-20 yvear ald, throughout the
198Uy and the 19905

D. A recent study has shown that the number of people who Tall yslecp while reading @ printed hook has
increasesd in the last live years,

. The ability of the younger jodges, who have grown up with ready access to Intermet; to judge complex and
intricale caves. has, on an average, bevome helter as compated 1. what it was for judges of cimpireble age
profile during the 1920k,

Which af the following, il trie, would most weaken the argument presented i the previous question] 1

A. Niclzsche was forced 1o use 2 typewriter when he staried fosing his vision. Afler he mastered the machine.
e could type with fis eyies closed. 1t way later found that under the ettect of the machine, Nietzsche’s prose
“chamged from arguments 1o aphorisms, from thoughts 1 puns, from rhetoric to telagram style™

b One of the effects of the tmekeeping instruments Bas been that we have staricd deciding on our daiby
activitics based on the clock and not based on our senses.

C. Studies have shown that the: essay writing skills of an average 15 - 20 year oid, who speads a low of time
browsing the Internct. s comporable 1o what il wos among the average 15-20 year old, throughout the
V9805 and the 1990s. s

B A recent smdy has shown that the mumber of peaple who fall asleep while reading a printed book has
imcrensed in the last five years. » o

E. The ability of the vounger judges. who have grownup with ready access 10 Intemet, o judge eomplex and
intricate cases, has, on A0 average. ecome better as compared 1o what it 'was during the 1920s.

Randomness has to be dealt with successfully o ensure a better conttol over one’s lite. Before one can deal 3
eflectively wilh randomncss. one st acknowledge ity existence. L

The above statements implics the following excepi:

A, Randomness can be dealt with effectively.

. If one acknowledges the existence of mndomness. one will be able to deal with it effectively.
. One can deal effectrvely with randomness iF and only af one acknowledges ils existence.

3. Everyone lives in a randim. wiorld.

E. 1f one does not scknowledge the existence of randommess, one cannot deal with it effectively,

Peries Hhix war will pesy tike the ethers which divided s, I
levimg ux dead, killing as afong with the kitfers

butt the sleme off thuis timer puts ifs bireing flngers o owr s,

Witer will rriase the ruthlessness hidien in irnocent bloed?

Which of the following is certainly not implied in the above verse?

A Killers also et Killed in war, :

B. Humarily pets divided by war and reunites afterwards in peace.
(. This war is sspecially ruthless.

M. This war is shametol to the entire humanity.

[ Newe can obliterae the nuthlessness of this war,

Travelling is my hobby. Today in the Himalayas, as 1 drag my feet through the I cannot but think 2
af thie same time Last year when [ was negotiating the thick ___uf the Ganges delta o For that matter
the time 1 spent with my children abowt i the waters of the Arabian Sea.
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The option that best fill the blanks in the above sentence would be;

A, slush, sludge, sloshing
B sludgo. stosh, slushing
C. slush. stosh, sludging

D slosh, sludge, slushing
L. sludge, slush, sinshing

63 Inspite of heing perceived as. ; by all, the club imembers decided 1o — Arum, a skinny leenape 3
With prominegt — i3 the member of the year, so that the whole affair would be = _to
Arta's Father who was recuperiting aller 4 serious iliness,

Lhe option that best fill the blanks in ihe above sentence would be;

A felon, felicitare, freckles, febrile

B. feral, faciliate, fecklcss, felicific

C. federate, facilitaie, frecides. feral
13 febrile, felicitate, fockless. foral

E feckless, felicitule, freckles. felicifie

64 Tew sentences are mven below continuously, Identify the best sequence of puncltuations imong the given 3
uptions. (The rule of capitalization the beginning of sentences hus boen ignercd in the pissage given helow ),
Noste: the arrows in the options indicate wext that would be within the pupctuations.

4 peroms frames of perception and metion are ngeow in early stages of development focused on sl
rrembiership and techaical co mpelence tht_earhg.]iﬁn of preanizations efien is focused on survival and efficiency
cnly later and yarely emphasizing process of leaming and development however in later stages both individual
and orpanizition become mere concerned with the learmng process isell the way the perceptions and practices
ure articulated and revised 1 interactions and how mn‘:éﬁpmpdfwn be engaped in mudual learning end inguiry

¥
#r. _'.'l_-\'*l_"-_"-

I, B B T ST et
e ’—r-,—:,—.p.—;.,--dr.
D—T_-,-_:.‘n _9'1_}"_-.'1_!‘1__’.

CRY ] .
E Ty b ek —p e

63 Choose the odd one: &
AL Wiler i Bhrty i Clean
B. Bamery + Dend S
C: Wond 2 Burn i1 Fond
B Fuice i Fermenl £ Wine
I Rain is Thunder 1 Hail
06 Choose the add one: >
A. The balloen goes up : Spot fixing scandal
B. In the altogether : Bath wh
C. The baleyon davs : Childhood
L), The real McCoy d Darjeelmg Tea

E. Throw down the gauntler UN eace keeping force
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1, 1o kaw 2 fiduciary indrvidsal is somcone who s cotrasted with the power 1o Eh’:m ’hnl'ﬁﬂfuf und Tor the
hunqﬁt of another.

2. Following the weight of corporite Baw and tegal precedent. the director pﬂmﬁﬁ'ﬁﬁiﬁﬂmﬁm.tm AL
aummmmu*ﬂ fiducinres. nol agenits.
1. The term Fideesry derwves from the Latin fadvena, or trust, and the fiduciary is- r:m:l'ﬂmm it good faih
and honesty for the beneficiary 's intenests.
4. A person whe necepts the role of fiduciary in law must single-mindedly pursoe the intesesis of his or her
beneliciary, in this caxe the corporation, even when fhe latter cannot monitor or mnﬂ‘thh Tiduciary"s
béhuviour,

el
J.I‘
el
L

e I'|
Read the sentences and d{mm WMWME a logical order.

=Rt
|-'.|-.|r-l.|-'_u
-h-l_|..l_..i—.,|_,.
e T TS

SEmE 1:|mr: snrun '
Ir. Incrational society has, i m of the lit?ﬂ-l'ﬂl}' ﬂfﬁl,‘lﬂiﬂ.'tﬁnd ﬁﬂﬂﬂ. i;tmm:,m pragressively
draven closer together and become more unified. i
¢. Despile the fears ind concems of spmc gmnmmmtﬁ that imfernationg) organizg
fitst and that they are a birden on Meir exchequers, they ure still srofiferating
d “P’Efl.p]a and their govermments now ook far hevond national fronticrs 'Iﬁﬂm o Commaon H‘_ﬂrll'.‘lfLﬂlhI]It!p'
for the mujor prodlems of the world and for lesser problems that may sabsist within smaller groups of
siiles,
¢ More recently in the 19905 the problems of international trade, which was growing incressingly
complex, led tothe development of the WTCx
For instance, concern with the instability of commaditics markets led to the estiublishment in-the 19805
of the Common Fund for Commodities and the competition for the newly discovered wealth of the
intermational seabed area resulicd in the ereatinn of the ISA under the Law of the Sea Convention of

14947 hased on the cofcept of "the common heritage nrmi;mﬂ

-1,

= WU | i |
B bedoia
Coealedh
D e febhil
E dexhle

As the information on air warlare tasks and suéessors was being gathered and scenurios were being deveioped, 4
parallel effort ensued o identfy a wst bed simulation tor air warfare feims. To meintan expenmentil control,
it was determined by the designers that choosing a low physical fidelity sinulation was acceptable as long zs
cogmtive fidelity in a eam simuolaton was maintained through subjecting soldiers © pressure sifuations in a
simulated combal sefiing and attempting w ensure that natoralistic decision making of soldiers would et be
compremmised.

Which of the following statements, il true, weakens the logic of the above passage?

i A number of studies have shown thal high levels of physical stress lead 10 a weakening of the decision-
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making capahilities of luaman beinas

it It has besn convincingly demonstrated by various sindies that human beings by natire are nor designed 1o
aclaps 1o bigh levels of mental stress :

it humerogs srodies have shown rhat sirmutated enviranmeants can be designed to be pood subsiitimey for feal-
life combat sitivuticns :

e Studies have show that simitlited cxercises for armed forces personnel have tlended 1o induce a Sy siematic
type of “cocrect” and common behaviour among the trinees

V. {Mficers, when short-listing soldiers Ior eritieal aperations, pick np banle-hardened soldiers rather than
these who bave-been imined througly simutations,

A apda

B. iand ifi

C. iand iy

B i i v and v
E i ivoand v

Answer Questions 70-71 on the basis of the paragraph below

We are ot only afraid of feing in the derk: we ane alvo suspieious of feing kept in the dark. We often feel that
the tmniverse has:a hidden oclzr phat we eannol guite compreliend. I anciens times, Lhis order was atriputed Lo
the gods —omnipotent heings who contralled humans® fares, Greek myihs in particolar portravad fumans as
pawies in the great games played iy tie gods. Mare reoently, there are suspicions of global conspiracies. These
conspiracics are cired for events thal aré foo imporiant to be random. We na longer describe them as “Acts of
Ciodd.™ 50 they. must he the wu:kqﬁmﬂn; —peope who gre hiding their influcnce over us, COVEring up
their involvement, They mkmpmgﬂp__ﬁu,ng us in the dark, Among the events attribuled to these people Gire
i '__Egﬂnmmg these events m minuta detail resulis in o fong fist of
- GO ¢ buils, are too numermus o be truly random. There mus
mgl order. No cne admiis o the COTSPIracy. so there must
@ptin the. dark by sinister forces (han to admit that there is

politic aﬁﬁﬂéqil_‘l!l!:*!-?ﬂﬁ»f-ﬂd; UE.& 1
Teoingidenes” which, 1o the minds 1

o€ icenisal planner who is at the hub of a sinister

Which of the following statements, if troe, would weaken the underiving logic of the above passape?

L. The human peed fisr order is a highly exagpersted nuu_'j::!'p. Tt mare often thai ot leads o creation of theoriey
ahout the universe. The mure sensationul the theory. the more prevaleni it becomes.

i The universe is loss ewded by pure mndomnpess thun by well-defined natoral processes which are suhjocted
0 tundominess al varving intervals of lime and space,

fii. To strengthen their case for a vaniery of conspiracies (he conspirscy. buts are extrapolating from a very
small sot of vbserved “eoinciderices™,

1. The persans progounding the differcnt conspiracy theories are ustilly oenvelists whin use these thenrics a¢ o
Duckdrop dusing the construction of (he plots of the movels.

v. The humam fear of he g kept in the dark is mmuch strunger than the fear of Taok of order in the warkings af
the universe,

At T and i
B. I fiand:iy
C. 1. iii and #
Ly b tind
E W, iv amndw

Which of the following statements wanld, if true, strengihen the case for beliof in sinister forces and
conspiracies being at work in the above paragraph?
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1, Though wcience Tt progressed a lot in e tast owo centiirics oF so, LIS still unable to explainfaceount lor
wore than 800 of tHe phenemena in the nRiverse.

5. There is now the existence of photographic evidence of pﬂear_uuﬂ_#rﬁlﬂfiﬁ'nﬂd a growing number of perallel
tudies showing that the humian mind con easily be manipulated to di someone else’s will through various
evienits that manipulae the “perceived reality’ :

i, The fear of our actons md thoughts heing controlied by someonc olse hus mtensified with (e widespread
populasity of the depiction of iis gory outcomes by different novelists and movie makers,

v There i5 0 sirong movement renttaduce the tenchings of he bilstical cvolutionary process and the
presence of God in schools around the world. ' o

v The Darwinian study of evolution of wpecics, tho corneTsione of heliefs in fathomable randommess of the
workings of the universe has come ander 1 scathing attack for s inaccunic depiction of the canses and
process of evolution.

AL paod iy
B.iand v

€, ikl end &
D idiandy
E. ii. i, and v

The maotivation of humdn heinis towards their work is a subject makict that is W once @ simple as well as an
extremely complicited matter %dr-a long time, coonomisis, sociolnmsts. as wel a5 psyehologists believed that
a earror and stick approach., with monetary ncentives playing the role of the earrol, would be suffizient to goad
cmployees towards achicving higher levels of performance. However, @ mumber of recent studies and
observations, espetiaily dealing with the open SORCE revolution are placing on he table strong evidence
suggesting thiat fronetary incentives are only one part of he entire story of motivaton throuah incentives, In a
study conducted by o group of rescarchers at MIT, it was Found that monetary incentives work well only in
respect of lnsks requiring mechanical skills ie. those tsks mot reauining much nse nf-higtlﬁ'h#ﬂf coEnilive
shilities (such as memarizing or probiers solving). In fact, (heir sudy showed ﬂﬁltﬂl:h;?hiﬁi MonCLory
incentives tor tasks requiring copnitive abilitics were more likely than not o WMMMM Since
ihis resilt flesw straight in the Face of the widely aceepted body of mwkdﬂtunﬂtﬁﬁyﬁﬂﬂiwhﬂn they
conduicied multiple experiments in different settings and countries 10 ensure thast i was @l @ one-off result. The
findings were the same in all repetitions of the axperiment. These ctudies appear {0 suggest tHal monetary
ncermves necd to be provided only © siich an extent as 1o take the ﬁmﬂﬂfwﬂﬁ ihe issue of money
and fobns on other issups that are necessary o gel mw&&}w%‘iﬁﬂf instance, some experiments have
chown thal grealer AUONOMY to emplovess and jowered mterference from manngement {and irases) 1%
“Suctessful indr ving the performance ﬁf:eﬁﬁﬁ!u'ﬁ;'-'wﬁdﬁg:in{cmilﬁa skill intensive jobs.

Identify the statement(s) that is fare) logically consistent with the content of the paragraph?

i Thie carrat-stick approach ecsentially requines thi wse oF rewards o gel MO of a desired hehaviour whereas
penalties lead (o mcreased undesirable hefavious. 8

ii. Expending time and effort oo the design of monckary incentives is a wasieful exercise.

i, ‘The study by the group of MIT vesearchers was a flawed exervise from the start

v, There appears 10 be o need w reorient the existing paradizm prevalent in incentive design.

v, During the process of desizning incentives, HNE shoutd Clearty delineate activities into those requiring
mechanical skills and those reguiring higher-leval cognitive skills and design with separate sels of
incentives and penalties for cach.

A pnd v
B. pand ¥

L di-and:iii
D, iiand v
E.ivandw
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Answer questions 73-74 on the bhasis of the fol lowing conversation hetween two friends, Paradox iPramd
Herodox (H)

P: The human body is but the womb of the soul and the visible world of matier is appearance that must be
overcome it we dre to know reality. The former iz an integral part of “being”, thar which can neither come i ko
eRIstence nor cease foexist For i always s Boing is unmoved and tndisturbed, Motion gnd disturbance belong
ta the realm of “becoming”, the changing wiorld of unrcality rather than of “being” in which true reality resides.
Further, motion & change by belonging to the realm of “becoming” by having no separste existence of their
oW are logically inconsisient with regtity and hence, unworthy of serious sy,

H: All things are inca state of perpetual fux, Permanence, and by extension, the comoept of “heing” iy only an
Hiusion. This change und contimal tramsformation, throush an ofien disorderly process of conflict and survival
of the fittey, is the underlying principle at work in the aniverse. It is from this principle thar all things come
into existence, dnd forms the basis for the morals and governance potterns thar Stizmpt to preserve the social
thread of socicties. By extension, the study of human activity through the lens of an idealized state of “being"”
and as a basiy for Femmul aling moral codes of condmen j= inappropriate al best.

Which of the following statemesits conld be considered as logicafly consistent with the views of Paradox
in the above parngraphs?

. Ay travelling on 2 [wing arrow perceivies it to be aF rest Therelore the fiying srrow belongs to the realm
ol heing,

fi. The activities of day to day lite are concernied with the unreal part of human existence smd henee, should
ot e subject to-moral standandy,

1 Muintaining a balance among the various constitients of sociely 18 essential to e well-heing and the
vontineing cxistence of the soul.

iv. Conflicts and the coming of pontanemis order do not fave any underlying causes that are relevant for
sily s the notion of perpewal flux itsell is erroncous.

v. Theveal isand eannot be non-existent. Further, reality is one and unigue.

A omly

B i and
iy and v
B3, b, and i
= v, andwv

Which of the following statements hest represents an implication of Herodox's idess?

A Religion and other approaches thar seress on maintiining and developing the purity of the Human soul are
stbjects that do not meril serions atrention.

B. The setting of moral standards snd cotles of governance have o he imdre procedurc-oriented with 1 focus on
the way humans conduct themselves in theis intesactions with exch ather.

€, Maimaining balanue between various constituents of the secicty and conflict prevention s essentidl (o the
mainienance of social order and a pre-requisite for Zovernamce.

D. As the rea] world pefevant 1o the existence of human beings is in o stae of perpetisal flux, attempiing 1o
study the same in o systematic manper would he meaningful despite reality iself having changed hy then.

E. There is no notion of timc space- invarane realily. There can be numerous realities both across Bines amd
across human coltures & civilizations

Answer Questions 75-77 an the basis of the information below,

Five reviews of the tecently published novel, Conglesin a Blizzard, are reprodiieed helow. The reviews and the
reviewers are identified as indicated by the letiers.
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76

137

=

This novel can change your life — for the good, o it has'changed mime. 1¢ has made me: reflect
eritically about my Tifc. :

The novel has become a papular ]]Ii!‘li.ﬂ: of literature, more pmong the youth than amang the alder
population.

The anthor uses the plot in ber navel to present her philosophy sbout Life in 2 pﬁﬁiﬂmﬁﬁﬁi Futher
than relying on the merits of the philosophy per se.

The suthor is known o be a writer of gredt power. The intricate and captivating plots in her
novitls shows that she has a subtle and ingenious mind.

Peoplc have been jalted oul of their belisfs abol Jove and othier different aspects of life afler

reading this movel.

i el - R

The optibns (o the guestions 75- 77 are same a5 the reviews! mwmw above.

There has heen criticism about reviewers that they write reviews afier having a cursory mﬂﬂmg of the book in
gquestion. Based onethe analysis of the different reviews, which reviewer is mwlmmm the ook in
preater detail as compared 1o the other revicwors?! ST+

Okt the (hve reviesws given, which one can be moest obrectively validated!

Which reviewer eulugiscs the suthor rather than critical ly reviews the novel”
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Section € — Analytical Reasoning and Decision Making

Indian government may. hold e enecutives msponsible i stueran pewer eompanics fail o meet performance
Lirgets and punish them with fnes and wsnsfery. The wrict perfornmance parameters are aimed i CTBUring that of
least the seduced wrzel for 62,000 MW of genexalion capaciy addition is achicved before the end of the | |th
Mam, said & power ministey official. Performance of chaitmen and mmzging direciors:of the power Public Secior
Unils (PSUs) in project moplementation will be aswesved as per e erms and eonditions supulated in the
CompEny s memorandum of understanding (Mol') with the power minisiry, he said, requesting anonymity.
Perfrmance paraniciers of exccutives: hind came under strict seruting due o a lack of progress in capacity
addion program, While the targat for the 110 five year plun has slready been scaled down by the gavcrnnien
from 78,500 MW, in the first three years of the plun yiekded only 22,302 MW of fresh Capacity.

If you were the chairman of one of these power BSUS, which of the following statements (all of which ame
assumed 1o be true) could best be used in rder 1o strengthien your case against the povernment holding 1op
EXCCIMIVES Tesponsibla?

i The lzhour unions, owing allesiance t ruling party ot the Cenire, are not allowing wiork 1o progress with their
demands for-wapee hikes that are untenable

H, Lhe sctions of the mid-Jevel mangenient ase nolin lime with the ohjectives laid dowan by the top management

i The delays bave: been due to difficulties in abfaining funds sl reasonable wlerest rates on accounr of the
recessiongry eonditions

v Weare not o Blanie, The governmeni js nurdeing enough to snsure availahility of sufficient fuel 1o power (he
existing plants, let alone the new planis.

v The sovernment bad fsnored (he infrastruciare. availability like ropds ete., and oovimenmental clesranoes
requited for such. projects: and thercfore st an unrealistic Wrgel 1o begin with, and the revised torpe: is also
umreatistic gs well

A pand i
B.dand i

C. b i e 1w
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Answer Questions T9 = 80 on the basis of the paragraph below

The CEOQ ol ABC Telecom Lt (ABCY s in a Qersmdary sice he received the telephone call in the morning from
his connterpart at LMN Telecom Lid, (1.MN) Both companies were epgaged in d hitter BXpericnoe 4 couply of
¥oirs ago when they had attenipted ko meige Wil the intention of creating @ behemoth. telecom COmpPRIYy.
powsibiy the lnrgest in the world, The merger had fallen through due 10 opportunisiac behavioud on the part of Mr.
Das. then CEO of LMN. During the time the merger lilis were taking place, Mr. Das had also approached a fow
ather suitors for LMN in an attempt @0 foroe ABC 10 pay a higher price. Further, there were reports af attempis by
management of LMN (o souttle the deal. Back then, ABC hal slso faced stiff opposition to the deal from one ol
115 large shareholders.

Sifce thon, o Jot bas clunged for both companies, The bleak econpmic cunditions duc to recession hail Tad to a
drastic fall in the marke! value of both compinies, with ABC comparmtively losing much more in terms of markst
vitlie. Raising money has become more difficult for Both companies. especially for LMN. On the brighier side fog
ABC. the opposing sharehnlder bed recently sold off his stuke o another investor wh earlier had supported the
aniginal merger deal with LMN a couple Of Medrs apo,

Which of the following would be the must Aappropriate linets) of thought {or the CEQ of ABC w adopt in
response Lo the offer by LMN?

1 Onee bitten twice shy. There ix simply no way | ean think of resuming talks with LMN after their unethical

258
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behaviour the previons fme around. | would rather spend my time on merger discussions with other
compimics.

ii. The deal may fnake less business scnse this time acossd. Howewer, if it goss throvgh, T will become the CLED
of the world's kirgest tefecom company. So leL us try our luek once more.

iti. 1 will resume talks only il they provide guaraniees @5 o the mrm of our expenses incurred, i the
eventof the deal nor materinlizing,

v et me nol be biased against dealing with LMN, [ we can mﬁmmwﬂhl} low price, benefiting
our sharchalders, let vs go ahead with it

v. Lamn not sure if we can raise the money now: In any event, mﬂmmg greafer financial problems.

8o let’s not hurry oow. We might have an opportunily 1o bay mmm price later,

A fand i

B ii and iv L

C_ ii and iii « bl s

T sl v

E. v amd v

L L

‘The merger of ABC and TLMN has been confimied sfter detailed negotiation with LMN hoidinge the majority
share of the resultant entity. T.MN has financed the mergér by 4 i market intcrest rates
(roum its bankers. in the hope that it would be able w streamline ¢ i the pesultaeit entity

which will allow it to repay the loan. If vou were an investor fo
the following could be the strongest redsons for staying away from:

A The new entrants in the felecom market were coming with helter o
B. The marke! would be as competitive as ever for the resulant enuty.
C. The combined management did present Fave any grand :-wwgimﬁ
D. ABC's management was giving in to Mr, Das who was a koW Oppe
E. LMN was tsing high cost debl 1o purchase another company inetl
with no visible advantage tor the combined enlity over LDTH}JHM

ry facing similar problems,

r ended March 31. 2010 as

Wind turbine miker Leone Enerey posted a net Joss of T 250 crore for: lie
,jwu'm-lﬂ the company

against a net |::|;+.:Ihl of T 350 crore in the same quarter 4 year-ago.

clocked a gross income of T 6,517 crore, as against T 9.778 crore in the 4 . Leone Energy clocked 2
loss of T 1100 ¢rore in 2009-10, as against @ net profit of T 320 ¢ ore in 200808, The sales revenues stood al
22,400 crore for the year, approximately 21 per cenr less as. " i last year. For the financial
year ending March 31, 20010, Leone Encrgy’s sales volume fit terms of | of projects exccuted) was 4,560

s sugpesied that the

MW from 2935 MW a yaar apn. The CFO of Leone Energy in his mes
the yeur ended March

poor performance of the company was (hee result of adverse: eeonomic conditic
31,2010

Y

You are a sharcholder owning 5% of the shares of Teene Encray, have mﬁmvﬁ declige By mome rhan
50% during the vear 2009- 16, and arc quite upset with the way the ' hmhnﬂli&g the bisiness,
¥ ou Tave decided w confront the management at the nest sharcholders” mﬂﬂlngmdhnwdh-asm the followm 5
painits to argue against the CEOs version of the story. In lightof the ammm the miast approprake
order of these 3 statements that you, as a disappointed shareholder, “should adopt #s 4 stinging and robust preface
if yOUr ¢Ase Ag4inst this management in fromt of the management and ofher sharcholders.

a The manapement b not doing its best 1o maintain the profitability of the company

b The company has actally increased its sales volume during the year under consideration

¢ The adverse ceonomic conditions have led wo a worldwide increase in the adoption of alternative
eliergy sources, reflecting i afl-time highest profits for wind tirbine makers in both developed and
developing countries

d  The management has heen lax with s conployeas as the management enjoys & large set of henefits

X




from the company tha they would have to Forgo if they became strict with emplayee.
¢ The company is irying to mcrease syles by charzing lower, unprofitable prices.

AL b
B ach
C. Bar
:nae
E. ehe

On 1% March, Timos arived in a new eity and was looking lor a place 1o stay. He met a landizsdy who offersd to
ent her apartment at a regsonable price hut wanled hin 10 pav the senron i daily busis. Timon had a silver bar af
31 inches, and an wrch of the silver. buc was exactly oqual 1o a diy's rent. e agreed 1o pay an inch of the silver
bar towards the disily rent. Timon wanted o make the miinimum mmber of pieces of the silver bar but did A
Wl o pay amy advunce rent. How many. pieces did he make?

g e
B.8
C. 16
D. 20
E: 3

Read the lollowing case and choose the best alternative { Questions 83 -86):

Chetan Testile Mills (CTM) had initiated virious employee welfars schemes for jis employees smce the day the
mll bezan its operations. Due 10 ils various welfare initiatives amd socially responsible businpss practices, the
organization had developed an impeccahle reputation. Majority of the negular workers in Chetan Mills had
menihership of Cleg Mills Magdoor Saneh (CMMS). & non palitcal rade union, CMMS had the welfare of it
members as its goiding prieciple; Both CTM und - UMMS addressed various worker refited 15sues i g proaciive
basis. As a result no mdustrial dispute had been reported from the srganization in the recen| past

These days mtiosty of the emplovers deploy large number of contract |abourers in their production processes, Tn
40 open economy survival of an organization depends on its competitiveness, In order 1o become Coanpetitive, an
organization must be: able to reduce cost and have Mexibility in emplovient of resources. Engaging workers
through contractors (contract labourer) reduces the overall labour cost by almust 50%. Fadian labotir [egislations
mike Teduction of regular workers almost impossible, hut wrganizations can overcome this limitition by
employing contract lnbourers, Conteast [abourers sneider get the same benefits as regular empliyees ner do they
have any job security. According 18 varlous recent surveys, government owned public sector units and olber
departments are the bigssst employers of contract luhotirers in the country. Contractors. as middle-men, olten
expleit the contract lubourers, and these gevemment organizations have Filed 1o stop the exploitation,

Ower ime CTM staried engazing o large mumber of contract lubourers. Ap present, more than 35% of CMs
wiwrkers {talal 5,000 in number) are contract labourers, CMMS leadership was wiry about the slow crosion of i
support hase & regilar workers stowly got replaced by conirnet workers and foared (he day when regular workers
wold Become o minerity in the mill.'So far. CMMS has refused to take contract labourers as members,

Recently, based on nimotes, CTM managenienl stfed to mvestigate the allered oxploitation of contrac
labotaers by certain contractons, Some contracions felt that such investigalions may cxpose them onel reduce their
profit margin. They instigated contract labourers 1o demiand for bener wages, Some of the contract labontrers
sought the support of various political parties in order to increase their negotiation power. Contract Jahourers
cngaged i materizl handling and cleaning work started provoking CTM management by edopting violent actics,

Today™s news-paper reports that palice und CTM security guards fired twa or {hree rounds b air to quell the moh,
The trouble started while a security guand allegedly slapped one of the contract labourers following & hented
argument. Anery labeurers set Fire to sevieral vehicles parked inside the premises; and o twe police jeeps.

3




Tn-the wake of recent happenings, whil decision is expected from CTH mupagement? From the combimations 3
piven below, choose the best sequence of action.

1 Stop the current inveshgations d paindt the conlractors 10 CTistre irickusteial peace; afier all allcgations wore

based on rumons. _ :
1L Continoe investigations to expose exploitation and take strang actions sgaimst trouble makess.

111 Gét in direct wach with all contract libourers thiough all possit means, communicate the need for currea
investigarion 10 stop their explotiation, and convinee them reparding CTM's m die o competition. Also
expose ihosc comiractons whes are creating prablems. [ !

TV Promise serong gotion against the security ruards who are ouiliys ey

V_ fnereuse the wages of contract laboerers. iy St |
¥ N Tl
Frre & gl = oL |

ATV ol

B. LI
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84 Inthe cument cottexd, which among the fullowing represent the, most suital

& Disahes CVMMS fron the episnde and explari that CMMS s 1ot
confercrice. _ e
B Offer membership to contrack kibourers, which would prt the contriel Wil

i CMMS. :
€ Do not offer msmbicsship 1 contract zbourers. bul represeint their jrerests &

prevent the formatien of dnother urion i CTVE
1. Start anoiker union cxclasively for coniract Vihoursis afEETIVE |5 e il il wttes ;
s e TN s

E. Adopt a newiral stand in public, and pass on informatian relied o ors o the CTM manig:
45 Ourof the options siven hclow, whicli ahe would be the best policy decsicr Wﬂhnuﬁmm level!

"- - ‘:.

& Asking CM management i pay same wages both @mmm-mmmm
B, Income wx rads in offices of eonimactors under nvestigation. :
. . Setting up o new |abour welltn: office within CM premises.
D). Setling up & new conimibiee to tike recommendations for changes in labour Legisiations with an oheclive o
reduce exploitation of contract Rbotwers. '
F s entire government machinery 1o support CEM, whichhas uiy impeceahic track record,

w6 The efiminalsin the surmounding area often ook thelr eye from the situation in the mill, creating low and order !
prohiems: outside: the mill which would later make it difficult for workers 0 COMc 10 mill safely. Given the
civcumsiunges, ldentify the stakeholder that <heaulid be the immidiate priority of CTM management.

A, Contriact labourers sha were illegediy. heaten by the sccurity guards of the company.
B. Disirict adminisiration that is concermedd about the spread of violepse.
. CMMS thist prfirs it immediate settlement of the issuc,

D C\mnmmwhum‘eWMm nd regulr sapplies.
E. Contract labourers who'ane degmnding | :

L i Al W ¥
= = 12y et

Answer question nos. 87 1o

Alex Company has ils office at thee third flovr of & mult-storied uilding n Mumbit. There are 5 rooms to be

allotied to § managers (designated M1 5o M3, each af whom will pecupy one room Each room has its own
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Suppose that Manager M2 decides not to join the BoW Zon

sum of the preference rankings alfoted r all the five Waaser

advantages and disadvantages. Some have the sex view, whill otliers are closer w vither the 1ift or the dining
roam, while some are more spacions. Bach of the five mamagers was asked to rank the room preferences AMONgs!
the rooms 301, 302, 303, 304 and HI5. Their preferences were recorded as follows:

Preference [MI[M? M3 T M& | N5 )
e 302|307 | 303 | 302 ] 301 |
2 3 1304 [3m | 305 [ 302

Py 304 [305 304 | 304 [ 305 |
vl T T T T
£ A Ty | 302 | |

Some manzgers did not indicate any preferencefor same rooms, as they did wint to be there unider any condition.
The compury decided to allot rooms o managersin such g way that so that the WAAAELrS gel rooms as per their
best preference or close 1o hal,

How mrany managers would get their roorms 48 per their best prefisrence?

-l".-..l « iw P11 B AR
B 2 T
'i:- 3 |.|I:I'!’| vt

ﬂ_‘L |”1'|"-|' ; i
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sleceice rnking is | and 50 on. Marsigement decided o allo

I inenager X gows histher 1t choice, thet His /be e i Man
' dll the manggers is mininized, What i the total preference

roems 5o that the sion of the prefarence

A5 . FUTY T
B. 6 -3 U i
0.7 S
B8 LS Mt
B9 T

| s Do (0 280 zonal Bifice and Manger MO takes his place, Manager Mo
has the following preference ranking in decrensing order: 301, 303, 302, 304 in this case whal would be the
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-Bx;-;l i ] e "
C.7 - A e a
iy e s
K p—

Answer question nos. 9 1o 91 based on the

i ety

Every Saturday, the members of Raje Hirish Chand#l'€1UR imeel in the evening. Al the members of the club are
hanest and never Jie. Last Sattmday. the fnﬂdﬁkﬁ&ﬁﬁéﬁﬁﬁuﬁmhﬂ'm one of the tables with five memhbers
Slling o ji. _ ol A

Satya Sachan: Tn this club not all miembérs ﬁ;fﬁqiﬂﬂg‘:ﬁ’ilhwhﬂm

Sulyabrata: Nime of the pair of fien: mtﬁcﬂﬂhmm friend. ok,

syt Every pair of members wha are sot frick s lis exactly two common friends i this club,

Satya Pramod: There are fewer than 22 peoy % club. r

peaple it this ¢lub




1)

a1

Hew many members ape there in the ciub?

A D
B.7
C.15
. 16
E:20

How mmany fricnds does Satya Sadhan have in the club?
A2 =

ol ~iel
=P g W W

Answer question nos, 92 to 95 hased on the following information:

Tn the country of Gagan, ir LaveTlers can buy their tickels cither directly from the sirlings or from hies webwites
that are licensed (o offer ticketing services onling, Tn Gagan most of #‘ml transactions are dune
eleciromcally, and all citizéns haye an account with its national hﬂwﬂmm three websites huve
heewme papular and each transaction through these wehsitas curries a sunch —l‘,_a:n"' mefers to Cluppes,
cuirrency of Gagam), Given helow are four post mew-year anuary 2. 2011 o Febmuery X 2011) offers from three
competing welbsiies:

Cogy fravel Offer: Make a confirmad boaking for any service {flight nicket. hotel o m_i!a-ﬁukm} through
Cozy travel.com from December 3, W10 10 Febromry 8, 2001 and becon s eligibla for rwo Ir

is limited 1o the base fave). Free tickets hive o he booked l'l‘rr_f" “onl
Febmiry 28, 2011, The request for free tickes chould be submitted

od at least twesty-one days in advance. Free
Hickels are non amendable {execpl the passenger name) and cannot be cancellad. Free tickets cannot be exchanged
for cash or kind with anybody. Ceey_travel will wy its hest to secure the free tic a5 per the request. However,
Gioket contirmation is subject o airline schedule and seal & ailability - cted and finalized by
Cozy_tmvel from speeific available wrlines. i

ember 21, 2010 and get
srumded by Cool Yatracom.

: yalue of base fare will be
refunded to passenger onfafier March 1 or fifteen days afier completion of

Cool_varre Offer: Book any air ticket of gny airline o Cool_yatra.com an o=
your next tickel free. Under this offer, ouly the hase fare of free ticket will be 1
Customers will have 1o bear fest of the charges {uther fees and surch; 1

Jir

on of trd Mﬁﬁ:mﬂ (whichever is
Yarar). The free ticket can be hooked only on {:agquﬂighmTﬁbnﬁuwmmmdwmm fifteen days
of hooking the original ticker and the travel date of Tree ticket must be fifteen days after the booking date ol free
ficker There must be 2 seven day gap between the wravel dute of mainforiginal icket and the free ticket. The
iravel date of free ticket should be on-or before February 28, 2011 The free tickets cannot be tmnsterred. On
canceliation of the original tickel(s), you no jonger remain eligible for the free tickets).

Euxy_fravel Cash Back Offer: Easy truvel offers 25% cash back on all air ticker bookings between Decermher 5.
00 and February 28, 2011 using Ceellee nel banking seevices-or its debiycredit card. The ¢ash buck amount
will be credited back to customers account within wenty-one days from making the frassaction. Maximim cash
mfk during this period is Gis. 400 per person per fickes and wotal gmopunt. that can be claimed by a costomer i3 Gs.
2 400, e '

Lk Ko Sark £k OfFer from Easy, sravel: Book an AirSpice ticket with Fasy_travel using any credit/debit card. and
et another ticket absolutely free. The free lickets will be issued on Arspice on its enlire network. 'The offer is
valid for sale from Junuacy 11 2001 w January 31, 2011, v free tcket must be booked at least fiileen days

prior o the date of travel and need to be completed within: the offer period. The promolion code for the free lickel
will get scuvated only seven days alter booking the main ticket. Easy_travel will charge 2 handling fee af (s
OGOF per person Tor any amendments made on sain ticket. Caneetiations of tckets purchased under this offer
are not permmiticd. The free Hekets abitained urider this offer can not be exchanged tor cash and ¢annoet be re-

3l




rovted,

92 Which offer has got the maxinim chance for becoming the most popular among, the air travellers of Cagan 3
during post new- vear periad? Amouy the following options, ¢haose the best offer-cxplanation. combination.

A Coey_oavel, becatse the customers will gel twice the number of fiaghts and the offer is applicable for gl
services provided by Cozy_travel.

B. Cozy travel. because it allows any customer o tansfer the free tickets to aity one il they are not interested in
(LT g8

C. Bk ke sath ek offer from Fasy travel, because it offers absolutely free tickets 1o all costomers.

. Cash Back offers from Easy_ravel, because all ather offers are restricted either interms of fitines (o choose
oy the periond of offer.

E. Cozy_travel, becanse it allows customers to wse froe tickess even aftér post New-year period.

93 Seppose the offer fiom Cool_yatra became the most popular, dad: the other two sgencies have sought help from 3
business comsultants o make their offers e attractive. ldentity the best recommmendation among the following.

A, Recommendation for the Lk Re Sath Fk Offer of Ensy_traval: Nepotiate with GagaAlr t come up with un
olffer thil provides one free licket for Crery miain ticker booked in AirSpice, :

B. Recommendation for the Cash Back Offer of Fusy travel: Ensure that eash back amount will bicredited back
o customer”s account within fifieen dlates.

C. Recommendation for the offer from Cozy travel: Reduce the number ol [ree tickets to ong and applicable only
for air twhet booking (not for other services), ‘but allow custoners 1o ok their Free tickels from
Coey trivel com in Ciagadir or comparable airlines without iny date restrictions.

D, Recommendation for the Ek Ke Sath Ex Offer of Easy_travelk Negotate with CGiagaAir o come up with an
affer thiat provides one fres ticket for eveTy main ticke! hooked in Cragadir and run both offers simultancously,

E. Recommendation for the affer from Cozy iravel: Do not allow customers to transfer tickels to others, hut
disclise that Cory_travel will consider both GagaAir end AirSpice Flights that connect afl cities in Cragan for
issuing freg fickers.

B4 Jugan is appearing for MAAT sxam o Tunuary 2. 2011, ina ity which i not his home town and he is yel to 3
boak the wir ticket to reach his hometown from MAAT centre. Based on his MAAT performance, be is confiden
about geiting an mterview call from the institte of his choice located in Akashpur. All istinates associated with
MAAT will coriset the shori-listed candidates within pext two weeks with vemis details and dae of interview.
Interviews will be scheduled within fiftoen days from the date of announcement of shorthst, gnd will b held at

. the respective nstitutes. Jagan’s hometown, MAAT centre, and Akashpur are connected by all airlines and (he
s Faves starts at Cis. 1,000, While visiting Akashpur for the interview, Jagan will have o put up in-a hotel, The
Finimum charge fior booking 4 horel in Akashpur through Coey mravel is Gs, 2,400, Fegually good hotels whicl
arc not fisted in the Cozy_travel wehsiie charge Gs. 1,000, Allthe three travel websites AssUTe @ minimum of one
Irce air ticket far every booking, If Yagan Has no other feason 1o v whick one of the following offers should
Tagan go for?

A, Bk Ke Sath Ek Offer of Fusy_travel

B. Gt the flight ticket and hotel boaki ng from Clozy_travel. He should ase confirmed trec ticket for retuen
lourney and exchange exira tickers (if any ) en barler hasis

. Get the flight ticket through Cozy_travel, and vse the =econd ticket if available for the return Journey

D, Ger the Night ticket frnm Cool_yelrs

E. Giet the IMight (icker und hotel boaking through Cozy_rivel, and use free tie kets for retum jowrmey

|

Januki needs o reach Khilli on January 28 o visit her uncle, and will return after fifteen days, Janaki found thy 3
the minimum Fare for both the 1o and fro joumoeys is Gs. 5,000 which nciudes Gs. 1200 base fare. 1F all aitknes
connect Janaki's city 1o Khitli, and all three ofers texcept the Cash Back Offery ensure minimum of one free dir
ticket, which of the following should Janaki opt. for?
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A Fk Ke Sath Bk Ofter of Basy_tsavel

B Cash Back Offer of Easy, travel

(. The Cozy_travel offer

D). The Canl yutrn offer

. Buy air tickets directly from wirline we buifes

Answer guestion nos. U6 1n 9% Hased on the following Inl‘urmnﬁn'n:

On a certain day six passengers from Chennal, Bengalin. Kochi, WMHF-:IMM bioarded the
New Delti bound Rajdhani Express from TataNagar. The following lacts e known about these i prssengers:

Thae porseas from Kiochi anad Chennai are less tan 3 years nfl;; ::,: —

Person Z. the youngest among ull is adoctor e L

e The oldest person is from Kolkata and hisfher profession i same as hatol the persen who gor down ol
Mughal Sral. X

»  The persons from Bengalur, Chennai, Pyderabad wnd Mumbai got dews at four differont stations. The
cldest among these four got down at Koderma and the youngesto war. The person who got down ot
Netw Defhi is older than the person whi got down ot wiughal Samk e o0 o
The enginizer from Bengalury is alder then the engineet from Che _ :
While aranging the teachers in increasng arder of npe it was obs :

the engineer from Cherti. . A i;.
Person Y who got down at Mughal Sarai s less than 34 years Al S SRR A L
The teachir from Kechi is four years alder thaa the 31 year oid dog or who is not from Mumbai.
I the past, three of the travellers have servied in the Indian AT ity Wl g sl o
: s | -mh-.- o i f 1
wWhich of the folkawing opiions is trae? o S gl e
A The person From € henmai is older thon the person ffem Kochi. ol b il iy
B The oldest leacher is from Mimbai. oot SN T p—_

€ The persen fom Mimbai is older than at least orie of the e gﬁiﬂfﬁ.‘""ﬂ'ﬂwﬂrﬁ‘ R Rt
B The person from Kochi gor down at Mughal Sarai, and wasan enginser. andadaid
F. Thi person who got down ot New Delhi is obder than ¥, who mmmmw ﬂ@ﬂfﬂﬁﬁmhﬂ&-
il e t[ﬂ"-‘t'.ﬂi:m -:1:['1! W‘ﬂil'-‘lﬂg in ilye - Lame ufgmim.im. -f,n'r H 1 -- '-'T-." .".-EI"... -u: o FECIls Twe
categorizs of employees — fresh graduares dnd thise who huvﬁg'ﬁ Tye years of jence in the Indian

Army. In both cases 1 new recruit should he less thin S Among the mavellers from same
profession, those with military hackprowml are ol least five years der than the T vellers who joined s fresh
eraduates, Identify he wavellers who oined the organization as f 3 R Pt '

. A " T R T
.l"’l- ﬂni‘!ﬂ' Y ¥ |

F. e passon Y and Lhe travetler from Cherms. N i

(. iUhe person ¥ and the travellers trom Kaochi und Hyderabad.

D. The mavellers fiom Kochs and Hyderyahad.

F. ‘The weacher from Mumbar. the traveller from Kochi snd the younger SnEInesr.

TF W is neither the youggest nor the oldest amang. the travetlers from her profession, whigh of the following i=
irue about her?

A, She got down at Kaderma,

B. She is 3o yemsald.

. She got down al Mughal Sarmi
D. She is fram Kochi:

k. None ol the above

Apswer guestion nos. 99 10 101 hase _'hp.ﬁ:'hrhniug-liﬂnnnnﬁnn:
Mo, Shurms has @ house which she wants b comeert to o hostel and rent it oul 10 students. of a pearhy Women's

=i 1




L

college. The house i a two sorey building and each floor has cight rooms. When one looks from the otilside,
thiee rooms are found tacing North, three found Facing Tast, three found facing West and three frong facing
Sonth. Expecting & certain number of students, Mrs. Sharma wanted o follow corain rules while giving the
SIAIEER rooms on rent:

Adl sixleen rooms must be pee upied,
Ny roum ean be oceupied by miore than three students.

Six roams facing norlh is called nois winy, Similarly sit rooms facing east, west and south are called as eist
WIng, west wing aud south wing. Fach comer room would be i more than one wing. Fach of the Wings must
have exactly |1 students. The fiest floer must have bwice as iy students as the ground Aoor

Howeser, Mrs. Sharma tound that three fuwer students have ciame to rent the reoms. Stll, Mrs. Shacma conld
manage o allocare the rooms aceording e the mules.

How many stodenis tumed up for renting the rooms? 3

AL 24

B. 27 |
C, 3

. 33

E. Nonwe of the above

If Mrs. Sharma allocaies the nurlb-west corner room on the ground floer 1o 2 studesits, then the oumber of 2
students in the corresponding reom on the fisst oor. and the number of suidents in the middle room in the first
oor of the eust wing are:

A 2and | respectively
B. Jand 1 resprctively !
C. 3ond 2 respectively

D. Both shoulst have 3 students

E. Such an arrngement is not possible.

IT all the studemts that Mré. Sharma expecied initially had come 1o rent the rooms, and if Mrs, Sharma had L b
Allocatedl the north west corner room in the geound floor o 1 smident, then the aumber al students in the
correspond g room on the first Hoor, and the number of studenits in the middle room iy the first Qoor of the egst
wing would have been:

s g

A1 and 2 respectively

B. 2 and 3 cespectively

C. 3 and | respectively

D. Bath shoukl have 2 students.

E. Such on arangement ts not puossible,
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